VEVOR

TOUGH TOOLS, HALF PRICE

Technical Support and E-Warranty Certificate www.vevor.com/support

WHEEL SPACERS
MODEL:6550-6550-E-108-09

We continue to be committed to provide you tools with competitive price.

"Save Half", "Half Price" or any other similar expressions used by us only represents an
estimate of savings you might benefit from buying certain tools with us compared to the major
top brands and does not necessarily mean to cover all categories of tools offered by us. You

are kindly reminded to verify carefully when you are placing an order with us if you are

actually saving half in comparison with the top major brands.


https://www.vevor.com/support

VEVOR®  WHEEL sPaceRs

TOUGH TOOLS, HALF PRICE

MODEL:6550-6550-E-108-09

NEED HELP? CONTACT US!

Have product questions? Need technical support? Please feel free to
contact us:

Technical Support and E-Warranty Certificate
www.vevor.com/support

This is the original instruction, please read all manual instructions
carefully before operating. VEVOR reserves a clear interpretation of our
user manual. The appearance of the product shall be subject to the
product you received. Please forgive us that we won't inform you again if
there are any technology or software updates on our product.



In Order To Avoid Wobble And Break Studs Problems, Please Read These
Important Safety Information As Follows:

® Never modify the wheel adapters/spacers.

Never remove the factory-installed studs on the wheel adapters/spacers.
Never use an impact wrench.

Do not stack multiple adapters/spacers on a single wheel.

Make sure that mating flange on the vehicle's rotor is completely clean.

Re-torque all lug nuts on the spacer/adapter after 25-50 miles of driving, then
again after 1-2,000 miles, use the thread locker to ensure the nuts are secure
enough, avoid taking off.

® Carefully follow the installation instructions included in this package.

INSTALLATION INSTRUCTIONS

Vehicle
Axle Hub Lug Nuts Lug Nuts

Wheel spacer Spacers Wheel Stock

1. Following your vehicle owner's manual, properly raise the vehicle and support it
using adequately load-rated jack stands. Never work on a raised vehicle that is
supported with afactory emergency, floor or bottle jack. Remove wheels and
inspect rotors for any damage or cracks. If any damage is identified, do not
continue with this installation.

2. Remove any visible rust from the mating flange on the vehicle's rotor. Inspect
both the rotor nd wheel mounting flanges for burns, rivet heads, or other
obstruction that would preventa flush seating of the vehicle rotor's mounting flange
to both the inner and outer side of the spacers. Improperly seated spacers are
hazardous and may cause adapter failure, resulting in the loss of a wheel while
driving the vehicle.



3. If proper seating can be achieved, mount the wheel spacer onto the vehicle's
studs until it sits flush with the rotor's flange. Thread glue on the studs is
recommended to reduce vibration risk. Install with open-end lug nuts (included
with this kit)as the specs below, follow the star pattern by hand wrench. Don't use
impact or it will damage the nuts.

4. Place wheel on the wheel adapter studs until the wheel mounting flange sits
flush on the adapter's outer flange. Install the nuts provided onto the lugs.

5. Check for proper tire clearance in the wheel well.making certain there is
sufficient wheel and tire clearance for full steering (lock-to-lock). If there is no
interference,vehicle may belowered. Once vehicle is on the ground under full load,
recheck for adequate tire and wheel clearance and unobstructed lock-to-lock
steering.

Standard torque of Nuts or bolts:

4LUG 5 LUG 6 LUG 8 LUG

© 0)(0%)(0°%0 go%
© 0)\@ 0 900 00

Torque of Nuts :

M14 x 1.5 = 8 turns = 85-90
LBS

M12 x 1.5 = 6.5 turns = 70-80
LBS

M12 x 1.25 = 6.5 turns = 70-80
LBS

9/16 - 18=8 turns = 135-145
LBS

1/2 - 20 = 6 turns = 75-85 LBS




Model 6550-6550-E-108-09
Thickness(inch) 2
Wheel Bolt Pattern 6x5.5in
Center Bore 108 mm
Thread Pitch M14x1.5
Qty. 4

108mm
Hub Centric

X\ M14x1.5
@, Wheaitud
N\

6x5.5"(6x139.7mm)

Wheel Stud Pattern 2"
Thickness

before

Original Reduce the
LESS -
Fender distance FENDER GAP offset distance




Adaptive Model

Chevrolet

Silverado

1999-2023 1999-2023 | Sierra 1500
1500
Avalanche
2002-2006 2003-2014 | Savana 1500
1500
1995-2000 | Tahoe 4wD | GMC 2000-2023 | Yukon
2007-2013 | Avalanche 2015-2023 | Yukon XL
Suburban Yukon XL
2000-2014 2000-2014
1500 1500
2015-2023 | Suburban Cadilac 1999-2023 | Escalade
Express
2001-2023 | Tahoe Chevrolet | 2003-2014 1500




Manufacturer: Shanghaimuxinmuyeyouxiangongsi

Address: Shuangchenglu 803nong11hao1602A-1609shi, baoshanqu,
shanghai 200000 CN.

Imported to AUS: SIHAO PTY LTD. 1 ROKEVA STREETEASTWOOD
NSW 2122 Australia

Imported to USA: Sanven Technology Ltd. Suite 250, 9166 Anaheim
Place, Rancho Cucamonga, CA 91730

UK

REP

EC

REP

YH CONSULTING LIMITED.

C/O YH Consulting Limited Office 147,
Centurion House, London Road,
Staines-upon-Thames, Surrey, TW18 4AX

E-CrossStu GmbH
Mainzer Landstr.69,
60329 Frankfurt am Main.



VEVOR

TOUGH TOOLS, HALF PRICE

Technical Support and E-Warranty Certificate
www.vevor.com/support


https://www.vevor.com/support

Machine Translated by Google

VEVOR

TOUGH TOOLS, HALF PRICE

Assistance technique et certificat de garantie électronique www.vevor.com/support

ENTRETOISES DE ROUES

MODELE : 6550-6550-E-108-09

Nous continuons a nous engager a vous fournir des outils & des prix compétitifs.

"Economisez la moiti¢", "Moitié prix" ou toute autre expression similaire que nous utilisons ne représente
qu'une estimation des économies dont vous pourriez bénéficier en achetant certains outils chez nous par
rapport aux grandes marques et ne signifie pas nécessairement couvrir toutes les catégories d'outils proposés.

par nous. Nous vous rappelons de vérifier attentivement lorsque vous passez une commande chez

nous si vous économisez réellement la moitié par rapport aux grandes marques.


https://www.vevor.com/support

Machine Translated by Google

®
VEVOR ENTRETOISES DE ROUES

TOUGH TOOLS, HALF PRICE

MODELE : 6550-6550-E-108-09

BESOIN D'AIDE? CONTACTEZ-NOUS!

Vous avez des questions sur les produits ? Besoin d'une assistance technique ? N'hésitez
pas a nous

contacter : Support technique et certificat de garantie électronique
www.vevor.com/support

Il s'agit des instructions originales, veuillez lire attentivement toutes les instructions

du manuel avant de I'utiliser. VEVOR se réserve une interprétation claire de notre manuel
d’utilisation. L'apparence du produit dépend du produit que vous avez regu. Veuillez

nous pardonner que nous ne vous informerons plus s'il y a des mises a jour technologiques ou
logicielles sur notre produit.



Machine Translated by Google

Afin d'éviter les problemes d'oscillation et de rupture des goujons, veuillez lire ceci
Informations de sécurité importantes comme suit :

Ne modifiez jamais les adaptateurs/entretoises de roue.
Ne retirez jamais les goujons installés en usine sur les adaptateurs/entretoises de roue.  N'utilisez
jamais de clé a chocs.  N'empilez pas
plusieurs adaptateurs/entretoises sur une seule roue.  Assurez-vous que la bride
de contact sur le rotor du véhicule est complétement propre.  Resserrez tous les écrous de roue sur
I'entretoise/I'adaptateur apres 25 a 50 miles de conduite, puis
encore une fois aprés 1 a 2 000 milles, utilisez le frein-filet pour vous assurer que les écrous sont bien fixés
ca suffit, évitez de décoller.

Suivez attentivement les instructions d'installation incluses dans ce package.

INSTRUCTIONS D'INSTALLATION

|
Vehicle Wheel spacer Spacers Wheel Stock

Axle Hub Lug Nuts Lug Nuts
1. Conformément au manuel du propriétaire de votre véhicule, soulevez correctement le véhicule et soutenez-le.
en utilisant des chandelles suffisamment résistantes. Ne travaillez jamais sur un véhicule surélevé qui est
pris en charge par un cric d'urgence, au sol ou bouteille. Retirez les roues et
inspectez les rotors pour déceler tout dommage ou fissure. Si des dommages sont identifiés, ne
poursuivez cette installation.
2. Retirez toute rouille visible de la bride d'accouplement sur le rotor du véhicule. Inspecter
les brides de montage du rotor et de la roue pour les brilures, les tétes de rivets ou autres
obstruction qui empécherait un positionnement affleurant de la bride de montage du rotor du véhicule
sur le coté intérieur et extérieur des entretoises. Des entretoises mal placées sont
dangereux et peut provoquer une défaillance de I'adaptateur, entrainant la perte d'une roue lors du

conduire le véhicule.



Machine Translated by Google

3. Si une assise correcte peut étre obtenue, montez I'entretoise de roue sur le véhicule.

goujons jusqu'a ce qu'ils affleurent la bride du rotor. La colle a fil sur les goujons est

recommandé pour réduire le risque de vibration. Installer avec des écrous de roue a extrémité ouverte (inclus

avec ce kit) comme les spécifications ci-dessous, suivez le motif en étoile a I'aide d'une clé a main. Ne pas utiliser
impact, sinon cela endommagerait les écrous.

4. Placez la roue sur les goujons de I'adaptateur de roue jusqu'a ce que la bride de montage de la roue soit en place.
affleurant sur la bride extérieure de I'adaptateur. Installez les écrous fournis sur les pattes.

5. Vérifiez le dégagement approprié des pneus dans le passage de roue. Assurez-vous qu'il y a

un dégagement suffisant des roues et des pneus pour une direction compléte (verrouillage a verrouillage). Si il n'y a pas
Interférence, le véhicule peut descendre. Une fois que le véhicule est au sol a pleine charge, vérifiez a nouveau le dégagement
adéquat des pneus et des roues et le verrouillage sans obstruction.

pilotage.

Couple standard des écrous ou des boulons :

4 LUG 5LUG 6 LUG 8 LUG

© 0\ 6%\ (0% g"%
© 0/\g o 990 000

Torque of Nuts:

M14 x 1.5 = 8 turns = 85-90
LBS

M12 x 1.5 = 6.5 turns = 70-80
LBS

M12 x 1.25 = 6.5 turns = 70-80
LBS

9/16 - 18=8 turns = 135-145
LBS

1/2 - 20 = 6 turns = 75-85 LBS




Machine Translated by Google

Modeéle 6550-6550-E-108-09
Epaisseur (pouces) 2
Modéle de boulon de roue 6 x 5,5 pouces
Alésage central 108 millimetres
Pas de filetage M14x1,5
Qté. 4

108mm
Hub Centric

M14x1.5

Wheel Stud ™\

6x5.5"(6x139.7mm)

Wheel Stud Pattern . 2"
Thickness

before

Reduce the

Original offset distance

Fender distance

LESS
FENDER GAP



Machine Translated by Google

Modele adaptatif
Silverado
1999-2023 1999-2023Sierra 1500
1500
avalanche
2002-2006 2003-2014 Sajane 1500
1500
1995-2000Tahpe 4WD GMC 2000-2023 YuHon
Chevrolet Avalanches 20p7-2013 2015-2023Yukpn XL
De banlieue Yukon XL
2000-2014 2000-2014
1500 1500
2015-2023 Barllieue Cadillac Escalade 1999-2023
Express
Tahoe 2001-2(23 Chevrolet200B-2014
1500




Machine Translated by Google

Fabricant : Shanghaimuxinmuyeyouxiangongsi
Adresse : Shuangchenglu 803nong11hao1602A-1609shi, baoshanqu, Shanghai

200000 CN.

Importé en Australie : SIHAO PTY LTD. 1 RUE ROKEVAASTWOOD

NSW 2122 Australie

Importé aux Etats-Unis : Sanven Technology Ltd. Suite 250, 9166 Anaheim
Lieu, Rancho Cucamonga, CA 91730

REPRESENTAN] DU ROYAUME-UNI

REPRESENJANT CE

YH CONSULTING LIMITEE.

C/O YH Consulting Limited Bureau 147,
Centurion House, London Road,

Staines-upon-Thames, Surrey, TW18 4AX

E-CrossStu GmbH

Mainzer Landstr.69,
60329 Francfort-sur-le-Main.



Machine Translated by Google

VEVOR

TOUGH TOOLS, HALF PRICE

Assistance technique et certificat de garantie
électronique www.vevor.com/support


https://www.vevor.com/support

Machine Translated by Google

VEVOR

TOUGH TOOLS, HALF PRICE

Technischer Support und E-Garantiezertifikat www.vevor.com/support

SPURVERBREITERUNGEN

MODELL: 6550-6550-E-108-09

Wir sind weiterhin bestrebt, Ihnen Werkzeuge zu wettbewerbsfahigen Preisen anzubieten.

LSparen Sie die Halfte*, ,Halber Preis" oder andere ahnliche von uns verwendete Ausdriicke stellen lediglich
eine Schatzung der Einsparungen dar, die Sie durch den Kauf bestimmter Werkzeuge bei uns im Vergleich zu den
groRen Top-Marken erzielen kénnten, und bedeuten nicht unbedingt, dass alle angebotenen Werkzeugkategorien

abgedeckt werden von uns. Bitte priifen Sie bei lhrer Bestellung sorgfaltig, ob Sie im Vergleich zu den Top-

Marken tatséchlich die Hélfte sparen.


https://www.vevor.com/support

Machine Translated by Google

®
VEVOR SPURVERBREITERUNGEN

TOUGH TOOLS, HALF PRICE

MODELL: 6550-6550-E-108-09

BRAUCHEN SIE HILFE? KONTAKTIERE UNS!

Haben Sie Fragen zum Produkt? Bendtigen Sie technische Unterstiitzung? Bitte kontaktieren
Sie uns:

Technischer Support und E-Garantiezertifikat www.vevor.com/
support

Dies ist die Originalanleitung. Bitte lesen Sie alle Bedienungsanleitungen sorgfaltig

durch, bevor Sie das Gerat in Betrieb nehmen. VEVOR behélt sich eine klare Auslegung
unserer Bedienungsanleitung vor. Das Aussehen des Produkts hangt von dem Produkt

ab, das Sie erhalten haben. Bitte entschuldigen Sie, dass wir Sie nicht erneut informieren, wenn
es zu unserem Produkt technische oder Software-Updates gibt.



Machine Translated by Google

Um Wackel- und Bolzenbruchprobleme zu vermeiden, lesen Sie diese bitte durch

Wichtige Sicherheitsinformationen wie folgt:

y Modifizieren Sie niemals die Radadapter/Distanzstiicke. y Entfernen

Sie niemals die werkseitig installierten Stehbolzen an den Radadaptern/Distanzstiicken. § Benutzen Sie niemals einen
Schlagschrauber. ¥ Stapeln Sie nicht mehrere

Adapter/Abstandshalter auf einem einzelnen Rad. y Stellen Sie sicher, dass der Gegenflansch

am Rotor des Fahrzeugs vollstandig sauber ist. y Ziehen Sie dann alle Radmuttern am Distanzstiick/Adapter nach 25—
50 Meilen Fahrt erneut an

Verwenden Sie nach 1-2.000 Meilen erneut die Schraubensicherung, um sicherzustellen, dass die Muttern fest sitzen

genug, vermeiden Sie das Abheben. y

Befolgen Sie sorgféltig die in diesem Paket enthaltenen Installationsanweisungen.

INSTALLATIONSANLEITUNG

Vehicle Wheel spacer Spacers Wheel Stock
Axle Hub Lug Nuts Lug Nuts

1. Heben Sie das Fahrzeug gemaR der Bedienungsanleitung lhres Fahrzeugs ordnungsgemaf an und stiitzen Sie es ab
Verwenden Sie Wagenheberstander mit ausreichender Tragfahigkeit. Arbeiten Sie niemals an einem angehobenen Fahrzeug
Unterstiitzt durch einen werkseitigen Not-, Boden- oder Flaschenheber. Rader abnehmen und

Uberpriifen Sie die Rotoren auf Beschéadigungen oder Risse. Wenn Schaden festgestellt werden, unterlassen Sie diese
Fahren Sie mit dieser Installation fort.

2. Entfernen Sie sichtbaren Rost vom Gegenflansch am Rotor des Fahrzeugs. Priifen

Sowohl die Rotor- als auch die Radbefestigungsflansche auf Verbrennungen, Nietkdpfe usw. priifen

Hindernis, das einen biindigen Sitz des Montageflansches des Fahrzeugrotors verhindern wiirde

sowohl an der Innen- als auch an der Auf3enseite der Abstandshalter. Falsch sitzende Distanzstiicke sind

Dies ist gefahrlich und kann zum Ausfall des Adapters und damit zum Verlust eines Rades fiihren

das Fahren des Fahrzeugs.



Machine Translated by Google

3. Wenn ein ordnungsgemaRer Sitz erreicht werden kann, montieren Sie die Spurverbreiterung am Fahrzeug

Bolzen, bis es biindig mit dem Rotorflansch abschlieBt. Fadenkleber auf den Stollen ist

empfohlen, um das Vibrationsrisiko zu verringern. Mit offenen Radmuttern (im Lieferumfang enthalten) installieren

Befolgen Sie bei diesem Kit gemaR den nachstehenden Spezifikationen das Sternmuster mit dem Handschliissel. Nicht verwenden
StéRen ausgesetzt werden, da sonst die Muttern beschadigt werden.

4. Platzieren Sie das Rad auf den Radadapterbolzen, bis der Radbefestigungsflansch sitzt

biindig am Auf3enflansch des Adapters anliegen. Bringen Sie die mitgelieferten Muttern an den Laschen an.

5. Uberprifen Sie, ob im Radkasten ausreichend Reifenfreiheit vorhanden ist

Ausreichender Rad- und Reifenspielraum fuir volles Lenken (von Anschlag zu Anschlag). Wenn nein

Interferenz, Fahrzeug kann unterfahren werden. Sobald das Fahrzeug unter Volllast auf dem Boden steht, priifen Sie erneut, ob
ausreichend Reifen- und Radfreiraum vorhanden ist und ob Anschlag-an-Anschlag frei ist

Lenkung.

Standarddrehmoment von Muttern oder Schrauben:

4 LUG 5LUG 6 LUG 8 LUG

© 0\ 6%\ (0% g"%
© 0/\g o 990 000

Torque of Nuts:

M14 x 1.5 = 8 turns = 85-90
LBS

M12 x 1.5 = 6.5 turns = 70-80
LBS

M12 x 1.25 = 6.5 turns = 70-80
LBS

9/16 - 18=8 turns = 135-145
LBS

1/2 - 20 = 6 turns = 75-85 LBS




Machine Translated by Google

Modell 6550-6550-E-108-09
Dicke (Zoll) 2
Radschraubenmuster 6 x 5,5 Zoll
Mittelbohrung 108 mm
Gewindesteigung M14x1,5
Menge. 4

108mm
Hub Centric

M14x1.5

Wheel Stud ™\

6x5.5"(6x139.7mm)

Wheel Stud Pattern . 2"
Thickness

before

Reduce the

Original
Fender distance

LESS
FENDER GAP

offset distance



Machine Translated by Google

Adaptives Modell

Chevrolet

Silverado ]
1999-2023 1999-2023 Jierra 1500
1500
Lawine
2002-2006 2003-2014 Savana 1500
1500
1995-2000 Tlahoe 4WD GMC 2000-2023 Ylukon
Lawine 20072013 2015-2023 Yjukon XL
Vorort Yukon XL
2000-2014 2000-2014
1500 1500
2015-2023 Yorstadt Cadillac 1999-2023 Hscalade
2001-2023 Tiahoe Chevrolet 2003-2014 Express
1500




Machine Translated by Google

Hersteller: Shanghaimuxinmuyeyouxiangongsi

Adresse: Shuangchenglu 803nong11hao1602A-1609shi, baoshanqu, Shanghai
200000 CN.

Importiert nach AUS: SIHAO PTY LTD. 1 ROKEVA STREETEASTWOOD
NSW 2122 Australien

In die USA importiert: Sanven Technology Ltd. Suite 250, 9166 Anaheim
Place, Rancho Cucamonga, CA 91730

YH CONSULTING LIMITED.

UK REP C/O YH Consulting Limited Biro 147,
Centurion House, London Road,

Staines-upon-Thames, Surrey, TW18 4AX

E-CrossStu GmbH

EG-REP Mainzer Landstr.69,

60329 Frankfurt am Main.




Machine Translated by Google

VEVOR

TOUGH TOOLS, HALF PRICE

Technischer Support und E-Garantiezertifikat
www.vevor.com/support


https://www.vevor.com/support

Machine Translated by Google

VEVOR

TOUGH TOOLS, HALF PRICE

Supporto tecnico e certificato di garanzia elettronica www.vevor.com/support

DISTANZIALI RUOTA

MODELLO: 6550-6550-E-108-09

Continuiamo a impegnarci per fornirvi strumenti a prezzi competitivi.

"Risparmia la meta", "Meta prezzo" o qualsiasi altra espressione simile da noi utilizzata rappresenta
solo una stima del risparmio che potresti trarre dall'acquistare determinati strumenti con noi rispetto ai
principali marchi piu importanti e non significa necessariamente coprire tutte le categorie di strumenti

offerti da noi. Ti ricordiamo di verificare attentamente quando effettui un ordine con noi se stai

effettivamente risparmiando la meta rispetto ai migliori marchi principali.


https://www.vevor.com/support

Machine Translated by Google

VEVOR® DISTANZIALI RUOTA

TOUGH TOOLS, HALF PRICE

MODELLO: 6550-6550-E-108-09

HO BISOGNO DI AIUTO? CONTATTACI!

Hai domande sul prodotto? Hai bisogno di supporto tecnico? Non esitate a contattarci:
Supporto

tecnico e certificato di garanzia elettronica www.vevor.com/
support

Queste sono le istruzioni originali, leggere attentamente tutte le istruzioni del manuale

prima dell'uso. VEVOR si riserva una chiara interpretazione del nostro manuale d'uso. L'aspetto
del prodotto sara soggetto al prodotto ricevuto. Ti preghiamo di perdonarci se non ti
informeremo piu se sono presenti aggiornamenti tecnologici o software sul nostro prodotto.



Machine Translated by Google

Per evitare problemi di oscillazione e rottura dei perni, leggere queste informazioni

Informazioni importanti sulla sicurezza come segue:

y Non modificare mai gli adattatori/distanziali delle ruote. ¥ Non

rimuovere mai i prigionieri installati in fabbrica sugli adattatori/distanziali delle ruote. y Non utilizzare mai
una chiave a percussione. ¥ Non impilare piu

adattatori/distanziali su una singola ruota. y Assicurarsi che la flangia di

accoppiamento sul rotore del veicolo sia completamente pulita. y Serrare nuovamente tutti i dadi ad
aletta sul distanziale/adattatore dopo 25-50 miglia di guida, quindi

ancora una volta dopo 1-2.000 miglia, utilizzare il frenafiletti per garantire che i dadi siano sicuri

basta, evita di decollare. y Seguire

attentamente le istruzioni di installazione incluse in questa confezione.

ISTRUZIONI PER L'INSTALLAZIONE

|
Vehicle Wheel spacer Spacers Wheel Stock

Axle Hub Lug Nuts Lug Nuts
1. Seguendo il manuale d'uso del veicolo, sollevare adeguatamente il veicolo e sostenerlo
utilizzando cavalletti con portata adeguata. Non lavorare mai su un veicolo sollevato
supportato da un martinetto di emergenza, da pavimento o a bottiglia. Rimuovere le ruote e
ispezionare i rotori per eventuali danni o crepe. Se viene identificato un danno, non farlo
continuare con guesta installazione.
2. Rimuovere tutta la ruggine visibile dalla flangia di accoppiamento sul rotore del veicolo. Ispezionare
sia il rotore che le flange di montaggio della ruota per bruciature, teste di rivetti o altro
ostruzione che impedirebbe il posizionamento a filo della flangia di montaggio del rotore del veicolo
sia sul lato interno che su quello esterno dei distanziatori. | distanziatori non sono posizionati correttamente
pericoloso e potrebbe causare il guasto dell'adattatore, con conseguente perdita di una ruota

guida del veicolo.



Machine Translated by Google

3. Se e possibile ottenere un posizionamento corretto, montare il distanziale della ruota sul veicolo

prigionieri fino a quando non ¢ a filo con la flangia del rotore. La colla per fili sulle borchie &

consigliato per ridurre il rischio di vibrazioni. Installare con dadi ad alette aperti (inclusi).

con questo kit) come da specifiche riportate di seguito, seguire il motivo a stella con una chiave inglese. Non utilizzare
impatto o si danneggeranno i dadi.

4. Posizionare la ruota sui perni dell'adattatore della ruota finché la flangia di montaggio della ruota non si posiziona

a filo sulla flangia esterna dell'adattatore. Installare i dadi forniti sulle alette.

5. Controllare che lo spazio libero per gli pneumatici nel passaruota sia adeguato, accertandosi che ci sia

Spazio sufficiente per ruote e pneumatici per la sterzata completa (da blocco a blocco). Se non c'eé

interferenze, il veicolo potrebbe abbassarsi. Una volta che il veicolo € a terra a pieno carico, ricontrollare che il gioco di
pneumatici e ruote sia adeguato e che il bloccaggio da un bloccaggio all'altro non sia ostruito.

timone.

Coppia standard di dadi o bulloni:

4 LUG 5LUG 6 LUG 8 LUG

© 0\ 6%\ (0% g"%
© 8/\0 0 990 00

Torque of Nuts :

M14 x 1.5 = 8 turns = 85-90
LBS

M12 x 1.5 = 6.5 turns = 70-80
LBS

M12 x 1.25 = 6.5 turns = 70-80
LBS

9/16 - 18=8 turns = 135-145
LBS

1/2 - 20 = 6 turns = 75-85 LBS




Machine Translated by Google

Modello 6550-6550-E-108-09
Spessore (pollici) 2
Schema dei bulloni delle ruote 6 x 5,5 pollici
Foro centrale 108 mm
Filo di pece M14x1,5
Qta. 4

108mm
Hub Centric

M14x1.5

Wheel Stud ™\

6x5.5"(6x139.7mm)

Wheel Stud Pattern . 2"
Thickness

before

Reduce the

Original offset distance

Fender distance

LESS
FENDER GAP



Machine Translated by Google

Modello adattivo

Chevrolet

Silverado
1999-2023 1999-2023 Siefra 1500
1500
Valanga
2002-2006 2003-2014 Sajana 1500
1500
. GMC
1995-2000 Tahjoe 4 ruote motrici 2000-2023 YuKon
2007-2013 Val@nga 2015-2023 YuKonXL
Suburbano YukonXL
2000-2014 2000-2014
1500 1500
2015-2023 Suljurbano Cadillac Scalata 1999-2023
Espresso
2001-2023 Tatjoe Chevrolet2003-2014
1500




Machine Translated by Google

Produttore: Shanghaimuxinmuyeyouxiangongsi

Indirizzo: Shuangchenglu 803nong11hao1602A-1609shi, baoshanqu, shanghai
200000 CN.

Importato in AUS: SIHAO PTY LTD. 1 ROKEVA STREETEASTWOOD
NSW 2122Australia

Importato negli Stati Uniti: Sanven Technology Ltd. Suite 250, 9166 Anaheim
Luogo, Rancho Cucamonga, CA 91730

YH CONSULTAZIONE LIMITATA.

C/O YH Consulting Limited Office 147,
Centurion House, London Road,

REP. DEL HEGNO UNITO

Staines-upon-Thames, Surrey, TW18 4AX

E-CrossStu GmbH

REP.CE Mainzer Landstr.69,
60329 Francoforte sul Meno.




Machine Translated by Google

VEVOR

TOUGH TOOLS, HALF PRICE

Supporto tecnico e certificato di garanzia
elettronica www.vevor.com/support


https://www.vevor.com/support

Machine Translated by Google

VEVOR

TOUGH TOOLS, HALF PRICE

Soporte técnico y certificado de garantia electronica www.vevor.com/support

ESPACIADORES DE RUEDA

MODELO: 6550-6550-E-108-09

Seguimos comprometidos a proporcionarle herramientas a precios competitivos.

"Ahorre a mitad de precio", "A mitad de precio" o cualquier otra expresion similar utilizada por nosotros solo
representa una estimacion de los ahorros que podria beneficiarse al comprar ciertas herramientas con nosotros en
comparacion con las principales marcas y no significa necesariamente cubrir todas las categorias de herramientas

ofrecidas. por nosotros. Le recordamos que, cuando realice un pedido con nosotros, verifique cuidadosamente

si realmente esta ahorrando la mitad en comparacion con las principales marcas.


https://www.vevor.com/support

Machine Translated by Google

®
VEVOR ESPACIADORES DE RUEDA

TOUGH TOOLS, HALF PRICE

MODELO: 6550-6550-E-108-09

¢(NECESITAS AYUDA? {CONTACTENOS!

¢ Tiene preguntas sobre el producto? ¢ Necesita soporte técnico? No dude en contactarnos:
Soporte

técnico y certificado de garantia electronica www.vevor.com/support

Estas son las instrucciones originales; lea atentamente todas las instrucciones del

manual antes de operar. VEVOR se reserva una interpretacion clara de nuestro manual de
usuario. La apariencia del producto estara sujeta al producto que recibid. Perdone que

no le informaremos nuevamente si hay actualizaciones de tecnologia o software en nuestro

producto.



Machine Translated by Google

Para evitar problemas de oscilacion y rotura de los pernos, lea estos
Informacién de seguridad importante como sigue:

Nunca modifique los adaptadores/espaciadores de rueda.
Nunca retire los pernos instalados de fabrica en los adaptadores/espaciadores de rueda.  Nunca utilice una
llave de impacto.  No apile varios adaptadores/
espaciadores en una sola rueda.  Asegurese de que la brida de acoplamiento del rotor
del vehiculo esté completamente limpia. ~ Vuelva a apretar todas las tuercas del espaciador/adaptador
después de 25 a 50 millas de conduccién, luego
Nuevamente después de 1 a 2000 millas, use el fijador de roscas para asegurarse de que las tuercas estén seguras.
suficiente, evite despegar.  Siga

cuidadosamente las instrucciones de instalacion incluidas en este paquete.

INSTRUCCIONES DE INSTALACION

|
Vehicle Wheel spacer Spacers Wheel Stock

Axle Hub Lug Nuts Lug Nuts
1. Siguiendo el manual del propietario de su vehiculo, levante adecuadamente el vehiculo y apéyelo
utilizando soportes de gato con capacidad de carga adecuada. Nunca trabaje en un vehiculo elevado que esté
apoyado con un gato de emergencia de fabrica, de piso o de botella. Retire las ruedas y
Inspeccione los rotores en busca de dafios o grietas. Si se identifica algun dario, no
continde con esta instalacion.
2. Elimine cualquier 6xido visible de la brida de acoplamiento en el rotor del vehiculo. Inspeccionar
Tanto las bridas de montaje del rotor como de la rueda para quemaduras, cabezas de remaches u otros
Obstruccién que impediria un asiento al ras de la brida de montaje del rotor del vehiculo.
tanto al lado interior como al exterior de los espaciadores. Los espaciadores mal asentados son
peligroso y puede causar fallas en el adaptador, lo que resulta en la pérdida de una rueda mientras

conduciendo el vehiculo.



Machine Translated by Google

3. Si se puede lograr un asiento adecuado, monte el espaciador de rueda en el vehiculo.

pernos hasta que quede al ras con la brida del rotor. El pegamento para hilos en los montantes es
recomendado para reducir el riesgo de vibraciones. Instale con tuercas de extremo abierto (incluidas

con este kit) segun las especificaciones a continuacion, siga el patron de estrella con una llave manual. no usar
impacto o dafara las tuercas.

4. Coloque la rueda en los pernos del adaptador de la rueda hasta que la brida de montaje de la rueda quede
al ras de la brida exterior del adaptador. Instale las tuercas proporcionadas en las orejetas.

5. Verifique que haya espacio libre adecuado para los neumaticos en el espacio de la rueda. Asegurandose de que haya
suficiente espacio libre para ruedas y neumaticos para una direccién completa (de tope a tope). Si no hay
Interferencia, el vehiculo puede caer. Una vez que el vehiculo esté en el suelo con carga completa, vuelva a
verificar que el espacio libre para llantas y ruedas sea adecuado y que no haya obstaculos entre trabas.
direccion.

Par estandar de tuercas o tornillos:

4 LUG 5LUG 6 LUG 8 LUG

© 0\ 6%\ (0% g"%
© 8/\0 0 990 00

Torque of Nuts :

M14 x 1.5 = 8 turns = 85-90
LBS

M12 x 1.5 = 6.5 turns = 70-80
LBS

M12 x 1.25 = 6.5 turns = 70-80
LBS

9/16 - 18=8 turns = 135-145
LBS

1/2 - 20 = 6 turns = 75-85 LBS




Machine Translated by Google

Modelo 6550-6550-E-108-09
Grosor (pulgadas) 2
Patrén de pernos de rueda 6 x 5,5 pulgadas
Orificio central 108 milimetros
Paso de rosca M14x1.5
Cant. 4

108mm
Hub Centric

M14x1.5

Wheel Stud ™\

6x5.5"(6x139.7mm)

Wheel Stud Pattern 2"
Thickness

Reduce the

Original
Fender distance

LESS
FENDER GAP

offset distance



Machine Translated by Google

Modelo adaptativo

chevrolet

plateado
1999-2023 1999-2023Sierra 1500
1500
avalancha
2002-2006 2003-2014 sabana 1500
1500
1995-2000 Taloe 4WD GMC 2000-2023 YuHon
2007-2013 Avglancha 2015-2023 YuKon XL
Suburbano Yukoén XL
2000-2014 2000-2014
1500 1500
2015-2023 suburbano Cadillac Escalada 1999-2023
Expreso
2001-2023 Tatoe Chevrolet 2003-2014
1500




Machine Translated by Google

Fabricante: Shanghaimuxinmuyeyouxiangongsi

Direccion: Shuangchenglu 803nong11hao1602A-1609shi, baoshanqu, shanghai
200000 CN.

Importado a AUS: SIHAO PTY LTD. 1 ROKEVA CALLE ASTWOOD

Nueva Gales del Sur 2122 Australia

Importado a EE. UU.: Sanven Technology Ltd. Suite 250, 9166 Anaheim

Lugar, Rancho Cucamonga, CA 91730

YH CONSULTING LIMITADO.

C/O YH Consulting Limited Oficina 147,
Centurion House, London Road,

Staines-upon-Thames, Surrey, TW18 4AX

REPRESENTANTE DEL REINO UNIDO

E-CrossStu GmbH

REPRESENTANTE DE LA CE Maaner LandstrGg,
60329 Francfort del Meno.




Machine Translated by Google

VEVOR

TOUGH TOOLS, HALF PRICE

Soporte técnico y certificado de garantia
electronica www.vevor.com/support


https://www.vevor.com/support

Machine Translated by Google

VEVOR

TOUGH TOOLS, HALF PRICE

Wsparcie techniczne i certyfikat e-gwarancji www.vevor.com/support

DYSTANSY KOtA
MODEL: 6550-6550-E-108-09

Nadal doktadamy wszelkich staran, aby zapewni¢ Pariistwu narzedzia w konkurencyjnej cenie.

.Zaoszczedz o potowe”, ,0 potowe ceny” lub inne podobne wyrazenia uzywane przez nas przedstawiaj jedynie
szacunkowg oszczednos¢, jakg mozesz zyskac kupujgc u nas okreslone narzedzia w poréwnaniu z gtéwnymi najlepszymi
markami i niekoniecznie oznaczaja uwzglednienie wszystkich kategorii oferowanych narzedzi przez nas. Przypominamy,

aby podczas sktadania zaméwienia u nas doktadnie sprawdzi¢, czy faktycznie oszczedzasz potowe w poréwnaniu

z czotowymi markami.


https://www.vevor.com/support

Machine Translated by Google

VEVOR  ovstansvkora

TOUGH TOOLS, HALF PRICE

MODEL: 6550-6550-E-108-09

POTRZEBUJE POMOCY? SKONTAKTU]J SIE Z NAMI!

Masz pytania dotyczace produktu? Potrzebujesz wsparcia technicznego? Prosimy o kontakt:
Wsparcie

techniczne i certyfikat e-gwarancji www.vevor.com/support

To jest oryginalna instrukcja. Przed przystgpieniem do obstugi prosimy o doktadne
zapoznanie sie ze wszystkimi instrukcjami. VEVOR zastrzega sobie jasng interpretacje naszej
instrukcji obstugi. Wyglad produktu zalezy od produktu, ktory otrzymates. Prosze

wybaczy¢ nam, ze nie bedziemy ponownie informowac¢ Panstwa, jesli pojawig sie jakies
aktualizacje technologii lub oprogramowania naszego produktu.



Machine Translated by Google

Aby unikna¢ probleméw z chybotaniem i tamaniem kotkéw, przeczytaj te informacje
Wazne informacje dotyczgce bezpieczenstwa:

Nigdy nie modyfikuj adapteréw/przektadek két.  Nigdy
nie usuwaj fabrycznie zamontowanych kotkéw na adapterach/przektadkach két.  Nigdy nie uzywaj
klucza udarowego.  Nie uktadaj wielu
adapteréw/przektadek na jednym kole.  Upewnij sie, ze kotnierz wspoétpracujacy
na wirniku pojazdu jest catkowicie czysty.  Po przejechaniu 25-50 mil dokre¢ ponownie wszystkie
nakretki mocujace na przektadce/adapterze, a nastepnie
ponownie po przejechaniu 1-2 000 mil uzyj érodka do zabezpieczania gwintéw, aby upewnic sig, ze nakretki sa dobrze dokrecone
wystarczy, unikaj startu.

Postepuj zgodnie z instrukcjami instalacji zawartymi w tym pakiecie.

INSTRUKCJE INSTALAC]I

|
Vehicle Wheel spacer Spacers Wheel Stock

Axle Hub Lug Nuts Lug Nuts
1. Postepujac zgodnie z instrukcjg obstugi pojazdu, prawidtowo podnie$ pojazd i podeprzyj go
przy uzyciu podpérek o odpowiednim obcigzeniu. Nigdy nie pracuj na podniesionym pojezdzie
wspomagany fabrycznym podnosnikiem awaryjnym, podtogowym lub butelkowym. Zdejmij kota i
sprawdz wirniki pod katem uszkodzen lub peknigc. Jesli zostang stwierdzone jakiekolwiek uszkodzenia, nie réb tego
kontynuuj te instalacje.
2. Usun widoczng rdze z kotnierza wspétpracujgcego na wirniku pojazdu. Sprawdzaé
zaréwno kotnierze montazowe wirnika, jak i kota pod katem przepalen, tbéw nitéw lub innych
przeszkoda uniemozliwiajgca réwno osadzenie kotnierza montazowego wirnika pojazdu
zaréwno po wewnetrznej, jak i zewnetrznej stronie przektadek. S3 Zle osadzone podktadki dystansowe
niebezpieczne i moze spowodowac¢ awarie adaptera, co moze skutkowac utratg kota

prowadzenie pojazdu.



Machine Translated by Google

3. Jezeli mozliwe jest prawidtowe osadzenie, zamontuj rozpérke kota na pojezdzie

kotki, az zréwna sie z kotnierzem wirnika. Klej do gwintéw na kotkach jest

zalecane w celu zmniejszenia ryzyka wibracji. Zamontuj za pomocg otwartych nakretek z koricéwka (w zestawie

z tym zestawem) zgodnie ze specyfikacjg ponizej, postepuj zgodnie ze wzorem gwiazdy za pomocg klucza recznego. Nie uzywaj
uderzenia, gdyz moze to spowodowac uszkodzenie nakretek.

4. Umies$¢ koto na Srubach adaptera kota, az kotnierz mocujacy koto zostanie osadzony

réwno z zewnetrznym kotnierzem adaptera. Zamontuj dostarczone nakretki na wystepach.

5. Sprawdz, czy luz opony we wnece kota jest odpowiedni

wystarczajacy przeswit na kota i opony, aby zapewnic¢ petne sterowanie (od blokady do blokady). JeZeli nie ma
zaktécenia, pojazd moze obnizy¢ sie. Gdy pojazd znajdzie sie na podtozu pod petnym obcigzeniem, ponownie sprawdz,
czy przeswit miedzy oponami i kotami jest wystarczajgcy oraz czy nie jest niczym zablokowany.

sterowniczy.

Standardowy moment obrotowy nakretek lub $rub:

4 LUG 5LUG 6 LUG 8 LUG

© 0\ 6%\ (0% g"%
© 0/\g o 990 000

Torque of Nuts:

M14 x 1.5 = 8 turns = 85-90
LBS

M12 x 1.5 = 6.5 turns = 70-80
LBS

M12 x 1.25 = 6.5 turns = 70-80
LBS

9/16 - 18=8 turns = 135-145
LBS

1/2 - 20 = 6 turns = 75-85 LBS




Machine Translated by Google

Model 6550-6550-E-108-09
Grubo$¢ (cale) 2
Wz6r Srub do kot 6x5,5 cala
Otwdr centralny 108 mm
Skok watku M14x1,5
Tlos¢ 4

108mm
Hub Centric

M14x1.5

Wheel Stud ™\

6x5.5"(6x139.7mm)

Wheel Stud Pattern . 2"
Thickness

before

Reduce the

Original offset distance

Fender distance

LESS
FENDER GAP



Machine Translated by Google

Model adaptacyjny

Chevrolet

Silverado
1999-2023 1999-2023 Sieffra 1500
1500
Lawina
2002-2006 2003-2014 Savgna 1500
1500
1995-2000 TaHoe 4WD GMC 2000-2023 Jukgn
2007-2013 Law{ina 2015-2023 Yukpn XL
Podmiejski Jukon XL
2000-2014 2000-2014
1500 1500
2015-2023 Podfniejskie Cadillac 1999-2023 Eskplada
Ekspres
2001-2023 Tahoe Chevroleta 2003-2014
1500




Machine Translated by Google

Producent: Shanghaimuxinmuyeyouxiangongsi

Adres: Shuangchenglu 803nong11hao1602A-1609shi, baoshanqu, szanghaj
200000 CN.

Import do AUS: SIHAO PTY LTD. 1 ROKEVA STREETEASTWOOD

Nowa Potudniowa Walia 2122 Australia

Import do USA: Sanven Technology Ltd. Suite 250, 9166 Anaheim

Place, Rancho Cucamonga, Kalifornia 91730

YH CONSULTING SPOLKA Z OGRANICZONA ODPOWIEDZIALNOSCIA.

C/0 YH Consulting Limited Office 147,
Centurion House, London Road,

REPUBLIKA ielkiej Brytanii

Staines-upon-Thames, Surrey, TW18 4AX

E-CrossStu GmbH

REPREZHNT KE Mainzer Landstr.69,
60329 Frankfurt nad Menem.




Machine Translated by Google

VEVOR

TOUGH TOOLS, HALF PRICE

Wsparcie techniczne i certyfikat e-gwarang;i
www.vevor.com/support


https://www.vevor.com/support

Machine Translated by Google

VEVOR

TOUGH TOOLS, HALF PRICE

Technische ondersteuning en e-garantiecertificaat www.vevor.com/support

WIEL SPACERS
MODEL: 6550-6550-E-108-09

We blijven ons inzetten om u gereedschap tegen een concurrerende prijs te bieden.

"Bespaar de helft", "Halve prijs" of andere soortgelijke uitdrukkingen die door ons worden gebruikt vertegenwoordigt
slechts een schatting van de besparingen die u zou kunnen profiteren als u bepaalde gereedschappen bij ons koopt in
vergelijking met de grote topmerken en betekent niet noodzakelijkerwijs dat deze alle categorieén van aangeboden

gereedschappen omvatten door ons. Wij verzoeken u vriendelijk om bij het plaatsen van een bestelling bij ons

goed na te gaan of u daadwerkelijk de helft bespaart in vergelijking met de grote topmerken.


https://www.vevor.com/support

Machine Translated by Google

VEVOR® WIEL SPACERS

TOUGH TOOLS, HALF PRICE

MODEL: 6550-6550-E-108-09

HULP NODIG? NEEM CONTACT MET ONS OP!

Heeft u productvragen? Technische ondersteuning nodig? Neem gerust contact met ons op:

Technische
ondersteuning en e-garantiecertificaat www.vevor.com/
support

Dit is de originele instructie. Lees alle instructies in de handleiding zorgvuldig door

voordat u ermee aan de slag gaat. VEVOR behoudt zich een duidelijke interpretatie van onze
gebruikershandleiding voor. Het uiterlijk van het product is afhankelijk van het product

dat u heeft ontvangen. Vergeef ons alstublieft dat we u niet opnieuw zullen informeren als er

technologie- of software-updates zijn voor ons product.



Machine Translated by Google

Om problemen met wiebelen en breken van de noppen te voorkomen, dient u deze te lezen

Belangrijke veiligheidsinformatie als volgt:

y Wijzig nooit de wieladapters/afstandhouders. y Verwijder nooit

de in de fabriek geinstalleerde tapeinden op de wieladapters/afstandshouders. y Gebruik nooit een
slagmoersleutel. y Stapel niet meerdere

adapters/afstandhouders op één wiel. § Zorg ervoor dat de tegenflens op de rotor van

het voertuig volledig schoon is. y Draai alle wielmoeren op het afstandsstuk/adapter na 40-50 km rijden
opnieuw aan,

Gebruik na 1-2.000 mijl opnieuw de draadborging om er zeker van te zijn dat de moeren goed vastzitten
genoeg, vermijd het opstijgen. y

Volg zorgvuldig de installatie-instructies die in dit pakket zijn meegeleverd.

INSTALLATIE INSTRUCTIES

|
Vehicle Wheel spacer Spacers Wheel Stock

Axle Hub Lug Nuts Lug Nuts
1. Volg de gebruikershandleiding van uw voertuig om het voertuig op de juiste manier op te heffen en te ondersteunen
gebruik van kriksteunen met voldoende draagvermogen. Werk dus nooit aan een geheven voertuig
ondersteund met een fabrieksnood-, vloer- of flessenkrik. Wielen verwijderen en
inspecteer de rotoren op eventuele schade of scheuren. Als er schade wordt vastgesteld, doe dit dan niet
ga verder met deze installatie.
2. Verwijder eventuele zichtbare roest van de tegenflens op de rotor van het voertuig. Inspecteren
zowel de rotor- als de wielmontageflenzen op brandwonden, klinknagelkoppen of andere
obstructie die een vlakke plaatsing van de montageflens van de voertuigrotor verhindert
aan zowel de binnen- als de buitenzijde van de afstandhouders. Verkeerd geplaatste afstandhouders zijn dat wel
gevaarlijk en kan leiden tot defecten aan de adapter, waardoor een wiel verloren kan gaan

het besturen van het voertuig.



Machine Translated by Google

3. Als een goede plaatsing mogelijk is, monteer dan het wielafstandsstuk op dat van het voertuig

tapeinden totdat deze gelijk ligt met de flens van de rotor. Draadlijm op de noppen is

aanbevolen om het trillingsrisico te verminderen. Installeer met open wielmoeren (meegeleverd).

met deze set)volgens de onderstaande specificaties het sterpatroon met een handsleutel. Niet gebruiken
stoten, anders zullen de moeren beschadigd raken.

4. Plaats het wiel op de wieladaptertapeinden totdat de wielmontageflens zit

vlak op de buitenflens van de adapter. Installeer de meegeleverde moeren op de nokken.

5. Controleer of er voldoende ruimte is voor de banden in de wielkuip. Zorg ervoor dat deze aanwezig is
voldoende ruimte tussen de wielen en de banden voor volledige besturing (van slot tot slot). Als er geen
interferentie, het voertuig kan lager worden. Zodra het voertuig onder volledige belasting op de grond staat, controleert u
opnieuw of er voldoende banden- en wielspeling is en of er sprake is van een onbelemmerde lock-to-lock-verbinding.
sturen.

Standaardkoppel van moeren of bouten:

4 LUG 5LUG 6 LUG 8 LUG

© 0\ 6%\ (0% g"%
© 8/\0 0 990 00

Torque of Nuts :

M14 x 1.5 = 8 turns = 85-90
LBS

M12 x 1.5 = 6.5 turns = 70-80
LBS

M12 x 1.25 = 6.5 turns = 70-80
LBS

9/16 - 18=8 turns = 135-145
LBS

1/2 - 20 = 6 turns = 75-85 LBS




Machine Translated by Google

Model 6550-6550-E-108-09
Dikte (inch) 2
Patroon van wielbouten 6 x 5,5inch
Centrum boring 108 mm
Draadafstand M14x1,5
Aantal 4

108mm
Hub Centric

M14x1.5

Wheel Stud ™\

6x5.5"(6x139.7mm)

Wheel Stud Pattern . 2"
Thickness

before

Reduce the

Original offset distance

Fender distance

LESS
FENDER GAP



Machine Translated by Google

Adaptief model

Chevrolet

Zilverado
1999-2023 1999-2023 Sié€fra 1500
1500
Lawine
2002-2006 2003-2014 Savyana 1500
1500
1995-2000 Tafjoe 4WD GMC 2000-2023 YuHon
2007-2013 Lavyine 2015-2023 YuHon XL
Voorstedelijk Yukon XL
2000-2014 2000-2014
1500 1500
2015-2023 Vogrstedelijk Cadillac Escalade 1999-2023

2001-2023Tah

pbe

Chevrolet 201)3-2014

Express
1500




Machine Translated by Google

Fabrikant: Shanghaimuxinmuyeyouxiangongsi
Adres: Shuangchenglu 803nong11hao1602A-1609shi, baoshanqu, shanghai

200000 CN.

Geimporteerd naar AUS: SIHAO PTY LTD. 1 ROKEVA STREETEASTWOOD

NSW 2122 Australié

Geimporteerd in de VS: Sanven Technology Ltd. Suite 250, 9166 Anaheim
Plaats, Rancho Cucamonga, CA 91730

Britde REP

EG REP

YH CONSULTING LIMITED.

C/O YH Consulting Limited Office 147,
Centurion House, London Road,

Staines-upon-Thames, Surrey, TW18 4AX

E-CrossStu GmbH

Mainzer Landstr.69,
60329 Frankfurt am Main.



Machine Translated by Google

VEVOR

TOUGH TOOLS, HALF PRICE

Technische ondersteuning en e-
garantiecertificaat www.vevor.com/support


https://www.vevor.com/support

Machine Translated by Google

VEVOR

TOUGH TOOLS, HALF PRICE

Teknisk support och e-garanticertifikat www.vevor.com/support

HJULAVSTAND
MODELL: 6550-6550-E-108-09

Vi fortsétter att vara engagerade i att ge dig verktyg till konkurrenskraftiga priser.

"Spara hélften”, "halva priset" eller andra liknande uttryck som anvands av oss representerar
bara en uppskattning av besparingar du kan dra nytta av att képa vissa verktyg hos oss jamfort med
de stora toppmaérkena och betyder inte nddvandigtvis att tdcka alla kategorier av verktyg som erbjuds

av oss. Du pdminns vanligen om att noggrant kontrollera nar du gor en bestalining hos oss om

du faktiskt sparar halften i jamforelse med de framsta stora varumarkena.


https://www.vevor.com/support

Machine Translated by Google

VEVOR® HJULAVSTAND

TOUGH TOOLS, HALF PRICE

MODELL: 6550-6550-E-108-09

BEHOVS HIJALP? KONTAKTA OSS!

Har du produktfragor? Behover du teknisk support? Kontakta oss garna: Teknisk support och
e-

garanticertifikat www.vevor.com/support

Detta ar den ursprungliga instruktionen, 1&s alla instruktioner noggrant innan du

anvander den. VEVOR reserverar sig for en tydlig tolkning av var anvandarmanual. Utseendet
pa produkten ar beroende av den produkt du fatt. Ursakta oss att vi inte kommer att

informera dig igen om det finns nagon teknik eller mjukvaruuppdateringar pa var produkt.



Machine Translated by Google

For att undvika problem med vinkling och brytning av dubbar, |as dessa

Viktig sékerhetsinformation enligt féljande:

y Modifiera aldrig hjuladaptrarna/distanserna. y Ta

aldrig bort de fabriksinstallerade dubbarna p& hjuladaptrarna/distanserna. y Anvand
aldrig en slagnyckel. y Stapla inte

flera adaptrar/distansbrickor pa ett enda hjul. y Se till att matchande

flans pa fordonets rotor ar helt ren. y Dra at alla muttrar p& distansen/adaptern igen
efter 25-50 mils kdrning, sedan

igen efter 1-2 000 miles, anvand ganglaset for att sakerstalla att muttrarna sitter fast
nog, undvik att ta fart. y Folj

noggrant installationsinstruktionerna som ingar i detta paket.

INSTALLATIONS INSTRUKTIONER

4
'
— e
Vehicle Wheel spacer Spacers Wheel Stock
Axle Hub Lug Nuts Lug Nuts

1. Folj fordonets instruktionsbok, hoj fordonet ordentligt och stod det

med lampligt lastklassade domkrafter. Arbeta aldrig pa ett upphdijt fordon allts&
stdds med en fabriksndd-, golv- eller flaskdomkraft. Ta bort hjul och

inspektera rotorer for eventuella skador eller sprickor. Om nagon skada identifieras, gor det inte
fortsétt med denna installation.

2. Ta bort all synlig rost frAn den passande flansen pa fordonets rotor. Inspektera
bade rotorn och hjulets monteringsflansar for brannskador, nithuvuden eller annat
hinder som skulle forhindra att fordonsrotorns monteringsflans hamnar i plan

till bade insidan och utsidan av distanserna. Felaktigt sittande distanser ar

farligt och kan orsaka adapterfel, vilket resulterar i att ett hjul tappas under tiden
kora fordonet.



Machine Translated by Google

3. Om en korrekt sittplats kan uppnas, montera hjuldistansen pa fordonets

bultar tills den sitter i jamnhgjd med rotorns flans. Tra lim pa reglarna ar

rekommenderas for att minska risken for vibrationer. Installera med dppna muttrar (medféljer
med detta kit) enligt specifikationerna nedan, f6lj stiarnmonstret med en skiftnyckel. Anvand inte
slag eller skadar muttrarna.

4. Placera hjulet pa hjuladapterns bultar tills hjulets monteringsflans sitter fast

spola p& adapterns yttre flans. Montera de medféljande muttrarna pa klackarna.

5. Kontrollera att det finns réatt dackspel i hjulbrunnen. Se till att det finns

tillréckligt med hjul- och dackspel for full styrning (lock-to-lock). Om det finns nej

storningar, kan fordonet hamna under. Nar fordonet &r p& marken under full last, kontrollera igen for
att det finns tillrackligt med dack- och hjulavstand och obehindrat Ias-till-las

styrning.

Standard vridmoment fér muttrar eller bultar:

4 LUG 5LUG 6 LUG 8 LUG

© 0\ 6%\ (0% g"%
© 8/\0 0 990 00

Torque of Nuts :

M14 x 1.5 = 8 turns = 85-90
LBS

M12 x 1.5 = 6.5 turns = 70-80
LBS

M12 x 1.25 = 6.5 turns = 70-80
LBS

9/16 - 18=8 turns = 135-145
LBS

1/2 - 20 = 6 turns = 75-85 LBS




Machine Translated by Google

Modell 6550-6550-E-108-09
Tjocklek (tum) 2
Hjulbultsm&nster 6 x 5,5tum
Center Bore 108 mm
Tradtathet M14x1,5
Antal. 4

108mm
Hub Centric

M14x1.5

Wheel Stud ™\

6x5.5"(6x139.7mm)

Wheel Stud Pattern 2"
Thickness

Reduce the

Original
Fender distance

LESS
FENDER GAP

offset distance



Machine Translated by Google

Adaptiv modell

Chevrolet

Silverado .
1999-2023 1999-2023 Yierra 1500
1500
Lavin
2002-2006 2003-2014 Savana 1500
1500
1995-2000 Tlahoe 4WD GMC 2000-2023 Ylukon
2007-2013 1gvin 2015-2023 Yjukon XL
Fororts Yukon XL
2000-2014 2000-2014
1500 1500
2015-2023 Horort Cadillac 1999-2023 Hscalade
2001-2023 Tjahoe Chevrolet 2003-2014 | ZXPess
1500




Machine Translated by Google

Tillverkare: Shanghaimuxinmuyeyouxiangongsi

Adress: Shuangchenglu 803nongl11hao1602A-1609shi, baoshanqu, shanghai
200000 CN.

Importerad till AUS: SIHAO PTY LTD. 1 ROKEVA STREETEASTWOOD
NSW 2122 Australien

Importerad till USA: Sanven Technology Ltd. Suite 250, 9166 Anaheim
Place, Rancho Cucamonga, CA 91730

YH CONSULTING LIMITED.

UK QEP C/O YH Consulting Limited Office 147,
Centurion House, London Road,

Staines-upon-Thames, Surrey, TW18 4AX

E-CrossStu GmbH

EC REP Mainzer Landstr.69,

60329 Frankfurt am Main.




Machine Translated by Google

VEVOR

TOUGH TOOLS, HALF PRICE

Teknisk support och e-garanticertifikat
www.vevor.com/support


https://www.vevor.com/support

